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1. C gre A i wenfisy snfen @rewin] u e o

(A) B B) =) (C) TS (D) ¥am
~Trojan virus was released 9 numerous SolarWinds Orion Platforms.
(A) Spy (B) Rootatd (C) SUNBURST (D) Ransom
2, el s g ez (a1 ) Al o
(A) ST (B)_#eifg) (C) s (D) Tirzamr
What is the name of Earth's first supercontinent ?
(A) Vaalbara (B) Cnllﬂnhtl (C) Pangea (D) Gondwana
3. aﬁ?-mmgﬁm%mm%mﬁ;a%ﬁaﬁmaﬂt SR WA FAT 2 2
ST T ® (B) e 11
&) faudw (D) fes s s
Which organization provides loans and grants to the world’s poorest developing countries ?
(A) - International Monetary Fund (B) United Nations
(C) World Bank (D) World Trade Organization
4. éﬁﬁmarﬁlamaﬁﬁm%ﬁgamujmﬁmw%: |
(A) GHTHdT ( (B) EHMAT
(& sufier womeh o8 (D) ST
In Vedas, human right is signified wﬁﬁsthe concept of :
(A) Equality < (B) Inequality
(C) Economic system ®) (D) Untouchability
5. wad fFa e e fega F w9 H g Sar g 2
(A) 15 379 (B) 16 (C) 143 (D) 13 3=
Which day is celebrated as “World Ax’t,_bay’ every year ?
(A) 15M April B) 16t szggil (©) 14t April (D) 13% April
6. RET T T ST0R 352 T €9 4 S §
(A) TS o TS I 1907 (B) irams et fagfee #ht =i &
(C) e |1 ST 3T =Y =Taom & (D) T STTITARTET 1 IFAT

Article 352 of the Indian Constitution primarily deals with :
(A) Proclamation of the formation of a new state  (B) Proclamation of appointment of CJ1
(C) Proclamation of dissolution of(tl;é Lok Sabha (D) Proclamation of national emergency

7. ufEemel iR wewHl/TEd (SC!ST)F@&W@W&%WWWW@IWWW
fapar mar 2 2

(A) Weamifem  (B) wré i (C) fara sfean (D) fefreer s

Which programme was launched bygthe Indian Government to promote entrepreneurship among wome!
and SC/ST communities ? - .

(A) Stand-UpIndia  (B) Start min (C) Skill India (D) Digital India

8. fasamme amrsa i w19 1336 ﬁ%ﬂ%z{maﬁmﬁtﬁ?

(A), FOTRAT ®) (B Tefr Hegar

(C) =ft s (D) 0" wuw

The Vijayanagara Empire was founded in 1336 by :

(A) Krishnadevaraya (B) Narasimha Saluva

(C) Harihara and Bukka (D) Devarayal
9, TR d IeR ¢ forrehl @ R BC

(A) 20 fuferm (B) 15 faferm (C) 10 Mfer= (D) s fufera=

Mega cities are the cities having a population more than ;

(A) 20 million (B) 15 million (C) 10 million (D) S million
oy B e R

Scanned with CamScanner



10.

11.

%gfﬁwwwmmﬁaa}aamﬁsﬁmmawmasmmumommﬁmm

(A) T 5= o qift aras (B) Tt tar o
(C) o wft siaT s=nfer i S "ET)) wyT 3 A e A

Which Indian scheme aims to provide a pension to unorganized workers, assuring a minimum pension of
7 3,000 per month after the age of 60 years ?

(A) Pradhan Mantri Shram Yogi Maandhan (B) National Pension System

(C)  Pradhan Mantri Jeevan Jyoti Bima Yojand_) (D) Pradhan Mantri Vaya Vandana Yojana

g shifaes 3t T sae fradk g fered MR 0

(A) XF. wafm ®) Wumg 0O () s (D) 34T AT, 2

“The Chronicles of Narnia™ series is written by éllom ?

(A) J.K.Rowling (B) C.S. Lewis @ (©) Roald Dahl (D) J.R.R. Tolkien
12, TETAT %wﬂmﬁmmmﬁeﬁmﬁmmmmﬂ#wwm

SIRT T HEAT H T B4 At Rufy w2 .

(A) TUTHS ST 3fg <] () whEsEEnais

(C) ¥ SEE 4l @) (D) ewe sHEET 3fg

The number of people entering a population through *birth’ or immigration’ being equal to the number of

people leaving it via ‘emigration’ or ‘death’ is called :

(A) Negative population growth (B) Rapid population growth

(C) Zero population growth (D) Paositive population growth
13. Tl a7 ST e (ITEC) #eish ) 3evd FI1 8 2

(A) Tadfia s &t e o (B) A= TeanT agHT

(C) TEH{dH ATET-WEH I ST &A1 od @)/aa;ﬂaﬁrugmmqauﬁmwwm

What is the purpose of the Indian Technical nndcﬁ]:onomic Cooperation (ITEC) programme 7

(A) Regulating financial markets ® (B) Enhancing military cooperation

(C) Promoting cultural exchanges (D) Providing technical assistance and training
14, 9 & GST Higer § ST () ohl HeAr &

The number of structures in India’s GST model is

(A) 4 (B) 5 @) <€) 6 (D) 3
15. WTO % Jda Helfaer i & ? -

(A) e miced (B) wi-er gl

(C) TS SR I=iT-gae (D) ufts A

Who is the current Director-General of WTO ? =

(A) Claudia Goldin (B) Hernando de Soto

(C) Ngozi Okonjo-Iweala () (D) Eric Bettinger
16. Wit 39=g 2 iewrE faae gra for@r mam o o

(A) - wIfE gl (B) it faee od (C) fermeram R EERUES

The celebrated novel “Thé-Godfather’ was author€fl by whom ? °

(A)  Mario Puzo (B) John Milton [é) (C) Victor Hugo (D) Harold Robbins
17. PAN &I quf &7 TR ? ]

(A) WEaw srwe= Fa (Fsft @ g T (B) e avT3ee An (SRR @ar AI)

(C) O 3132 =T (T e HeEm) l (D) THAET RT3 =T (SRR W HEm)

What is the full form of PAN? ©)

(A) Private Account Number (B) Personal Account Name

(C) Permanent Account Number (D) Personal Account Number
BV N

Scanned with CamScanner

rﬁ



18.

20.

21.

22.

23,

24.

- -

gesft Y srerary wontedt % fev st orfier wa d
(M- (B) wwramT £ et
() anftr F (D) "] St
The primary source of energy for the Earth's climale system is :
(A) The Sun (B) Ocean currents
(C) Geothermal energy (D) Nuclear energy
e o ety anmrersmter YR e at srfieRr foress e 8 2
(A)- gmfa (B) #47

- . ;
(C) W (D) form et
Who has the authority to declare a financial cmcrgéécy in India ?
(A) The President 05(8) The Parliament
(C) The Prime Minister (D) The Finance Minister

o e we wEe dwe i s ga i § o, % o & s A
HATA-fenTE UHTIH o =T H g o ded 8 | =

(A) TR =R (B) =rdiqer Loy smives (D) EETEHTE

Facebook customers can find out about special ot"ﬂi% and on-demand promotions via , one of the
most important social media marketing tools. ®)

(A) Post Planner (B) Chattypeople (C) Agorapulse (D) SocialOomph
frafefiaa # & -t s A e @ 2

(A) Gl (B) Trrmmet (©) s (D) foeree

Which of the following is the capital of Bangladesh ?

(A) Khulna (B) Rajshahi C)(E‘} Dhaka (D) Sylhet
vt frm Fi a1 < fateAT P O AT ST T fGaa 3 &9 5 H S & ?

(A) 59T (B) 79 ofC) 4T (D) 69

Which day is observed as the ‘International Disnﬁﬂamcnl and Non-Proliferation Awareness Day’ every

year ? &)

(A) 5" March (B) 7" March () 4" March (D) 6 March
7T @Y i, P Tl 7T 1SS i ! % 2023 ﬁ(ﬁaﬁwﬁwfﬁm:?

(A) Efe s stRiEa ag 37SeT

(B) TET ACETATS e ST waTs 3TgeT ®

(C) irer siaiia gans oTEeT

(D) e el weTrst S g Tgst

Recently, which Indian airport received recognition at UNESCO's 2023 Prix Versailles ?
(A) Indira Gandhi International Airport |

(B) Sardar Vallabhbhai Patel International Aiqmﬁ_j

(C) Kempegowda International Airport o)

(D) Chhatrapati Shivaji Maharaj International Aiggbrt

‘WWWWW‘W%%@E@W%?{]

(Ay Tz aefl @(B) w3, s
(C) o3 For 372 (D) Fatsheh Fefer
Who is the author of the book “Human Rights and Inhuman Wrongs™ ?

(A) Upendra Baxi (B) Soli J. Sorabjee
(C) V.R.Krishna Iyer ©D) Chiranjivi Nirmal
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26.

27.

29.

30.

31

FIA-1 ey T st ura % anor W e fﬁﬁmr{-aﬁmrrmﬂ%wrﬁimaﬁ%ﬁmm
SIS T T HCETT A 9T AR & .

(A) I 92T :nﬁ]lsrirrn RIS EIE

(C) ey wrza (1 yﬂﬁﬂ?}m U e

Which international agreement Itncuscs on the prulcciincmwl' the ozone layer by phasing out the production
of numerous substances responsible for ozone depletion?

(A) Kyoto Protocol (B —LICHCWI Convention

(C) Paris [ﬁ:rccmcnl (D)<}~Iontrcal Protocol

fereeft 26T TR Ged i o1 ®

(A) Feqamy (B) e faersht
(C) FAIEH Ua® . (D) Feta

Who was the first Sultan of Delhi ?

(A) Iltutmish (B) Alauddin Khilji
(C)  Qutb-ud-din Aibak (DU:tlbzm
EIEAECEARGIERER e ) ol

(A) mﬁ:ﬁm"m (BpdeTet o

(C) _Shet terhid (D) frefeim

Who discovered Nitrogen ?

(A) Benjamin Franklin (B%aﬂ Benz

(C) Daniel Rutherford (D}—Richard Gatling

frafafae # & =g fieadt s ada 2 2
Which of the following is the GST common portal 2~ @)

(A) www.pgst.govin (B) _wawvw.gstin (C) www.gst.com (D) www.gov.in
(A) Frafafe (B) T UAG= (C) femmer (D) eft v
Which mountain is called the ‘Blue Mountain’ ?

(A) Nilgiri (B) Mount Everest (COThc Himalayas (D) Mount Fuji
T AR & A A R 2 o8

(A) Pt 3 P 3 o7 @ s @ oy & ©3

(B) Tt forelt 291 o =rd =amm e drar <

(C)- St fereft 5o 371 3a Fata & stfus g sma € ©)

(D) <= fefdt oy 6y v wiqfera arm & ]

What is meant by a ‘trade deficil’ ? <I

(A)  When a country’s exports exceed its imports

(B) _ When a country has no trade at all ©)

(Cy When a country’s imports exceed its exports

(D} When a country’s trade is balanced

ST TR (31 T Hfed) 1 et vt w9 s, Rt e R s @ g e b
SATE FAd @ S sranst e Sar |

(A) HeEs (B) foeam (C) Fwrgdl (D) et a1 qeerar

?_\Iamc the traditional form of wrestling in Uttar Pradesh (including other States), which wrestlers practice
In a specially prepared mud pit called an Akhada.

(A) Mallakhamb (B) Silambam (C) Kabaddi (D) Kushti or Pehalwani

Page 5 of 24
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32, f e 3 Y o e g gl e, ST Ay 3ite shftan wver st % fom o e wfviw

foy? st A 0 ofl - F St
(A) AUALN (UNEP) (B) F%R (UNESCQ)s  (C) UTE, UL T, (I'A()}. (D SRk B
Which mstitution released the report titled 'Sm’uﬂ and Dust Storms @ A Guide to Mitigation, Adaptation

Poliey and Risk Management Measures in Agriculture” ? _

(A) UNEP (B) UNESCO @) (C) FAO (D) World Bank
f‘{ 33, Ta“ra:rq%@zﬁnﬁaaaawﬁmﬁwﬁaﬁm'é[] o

(A) arpizea 7w <| By AEE A H ()

) : rzet 3 el O A

(©) oAt i were A @ @ (P) IFHSAH

Earth’s Albedo is largely affected by the :
(A) Atmospheric layer
(C) Nature of the Earth’s surface

34.  Eiusu = G e gr st nd ot 0

(B) Cloudiness
(D) Dust particles in the atmosphere

(A) Trenfers fewfer () (B) s dtead iR wiEE B
(C) W FHee o (D) =Ted ZifET
Tlﬁtmc:ure of DNA was discovered by whonf¥
(A) Rosalind Franklin <I (B) James Watson and Francis Crick
(C) Gregor Mendel @) (D) Charles Darwin
35, fore i A rpmoraE arda e [
(A) Tzl 3% 37 3 <] B) % iE e
(C) Wt frsd d @ (D) WA 22 3%
Which bank supported the demonetization in India ?
' (A) Central Bank of India (B) Bank of India
(C) Reserve Bank of India (D) State Bank of India

36, Frefeafia & e areert ST & Heresfier Se 1 e e 5 fe safiwdt F 1 v T e &
(A) HTEETEfCT _ Eej} (B) ATETa
(C)_#T o (D) T

Which of the following cybercrimes involves dcgjiving individuals into revealing sensitive information ?
(A) Cyberbullying (B) Malware

(C) Hacking © (D) Phishing
37, wifiecr i e TR STH G AT TEd TRt L] x|
(A) 1A T < (B) wfer g
. ) _ !
(C) wEr 2 @ (D) ez i
The first Indian to receive the Nobel Prize in Literature was |
(A) C.V.Raman (B) Sarojini Naidu
(C) Mother Teresa (D) Rabindranath Tagore
38, SR AT e e R L
(A) gz (B) 3T ©y afefa (D) ¥ 1
Which is the capital of Germany ?
(A) Madnd (B) Abuja (C) Berlin (D) Canberra
BXV-24 T TTTTTTTTTTTTToTmTTTTTITTIIS Page G orq T TTTTTT T T eemeee po-
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A A AT U =l 390 3 e ek gps @ i e 90 farft amard st 3 e 180 Pudt amrd
WgaT & | 31 39 =k 1 i fe fan R st @ 2

(A) ™ (B) 3 (C) afaam (D), e

A person performing yoga starts facing North and then turns 90 degrees counterclockwise followed by
another 180 degrees counterclockwise. What direction is the person facing now ?

(A) East (3) North (C) South (D) West

40, faomoaA s, - 6 o g ot a o ¥ S Rl o & 53 qu ) v e siv g e o e fet i
U o w1 oft R HE A Hﬁtﬁmmaﬁrﬁ!gi)
AR PR P R &

(A) e (B) ™ oA C), @z (D) Fe

In the given question, there are two words to the lel!lof the sign :: which are connected in some way. The

. . . ¥ e . . -
same relationship obtains between the third word and one of the four alternatives under it. Find the correct
alternative.

'
e

Sugar : Sweet :: Lemon : ? [:I
(A) Yellow (B) Juice o) sour (D) Fruit
41, ATASB IR A BI MY A 4B FHAP A BARY AxBFFEY A, B R THY, A
WEX*YSURW, UNFwafimd
(A) (B) #i (C) arar (D) |/H

If*A S B" means ‘A is the father of B'; ‘A # B' means *A is the mother of B™: *A x B’ means ‘A is the
sister of B™, then how is WrelatedtoUin W# X xVSU?

(A) Grandmother (B Mother E:IC) Grandfather (D) Mother-in-law
B o . 5
42. U iz e A, 48 F7 31 “which school” 3T 968 FT 372 “college and school” ¥ | 751 ¥ o iz =1
g2
In a certain code, 48 means “which school” and 38 means “college and school™. What is the code for
school ?
(A) 4 (B) 6 i C) 8 (D) 9

43, frafafaa gaar @ @ im0 & s K & i IMKFIFag ama & ?
How many *S" are there in the following series thaf@bme immediately before K and immediately after K ?
SSKSKSRKSPOKSKSKS

(A) 3 (B)*2 (C) 4 (D) §
. i .
M, 1 xpyifmEa R X,y At ;rilx V73—
. b ’\

2 Ysz¥fmFmiefry, za iR O 19_;,:'«

3. zrasfamad fEz, Ad AR % S L2y

At o afar e 2 9 P

(A)Y A (B) Z '\]C) X (D) Y

I. X #Y indicates X is the mother of Y. @)

2. Y $ Zindicates Y is the brother of Z. [:]

3. Z* Aindicates Z is the daughter of A. <

Then who is the father of the family ? (E:

(A) A (B) 2 --lcy X (D) Y _
BXV.3y T PageTof2d T
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45 Faferfiras wrdad v e ¥ v if B o sl P i ® | o w5 o A 3k
IF ST YT W 7 3T A |

fas¥d) et 3 wgra f @12 et i = oo )
WA E

10%

At gereht =1 wh T wv 2 R o e = 40,200 2, A5 R 3 e w e e s
(A) T21,000 (B) T22.800 (C) 20,100 (D) ¥22,500
The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a
book. Study the pic-chart and the answer the question based on it.
Various Expenditures (in p{u'&'cmage} Incurred in Publishing a Book
Promotion Cost
10%

Transportation Cost
10%

Binding
20%

Paper Cost
25%

If the printing cost for a specific quantity of books amounts to % 40,200, what will be the expenditure for
promotion of these books ?

@)
(A) 21,000 (B) %22,800 ;5 (C) 20,100 (D) T 22,500

SRRt {2 e, s e age A 1 fie 3d oded 21T e sk
W%ﬂaﬁzﬁmmﬁﬁmﬁmﬁ%mﬁmm%?
(A) 44 e (B) 45fire ©) (C) 35 fime (D) 48 fime
Walking %th of her normal speed, f\thinm IS minutes late in reaching her office. What is the usual time
taken by her to cover the distance betweencher home and office ?
(A) 44 minutes (B) 45 minulcia) (C) 35 minutes
Frefeftaa sjmer # x 3t y %1 7= 310 if
Find the value of x and y in the following series :

U4, R8, 016, x, 164, F128, y
(A) K24, D345 (B) G32, E256 (C) L32,C256 (D) M32,B345

(D) 48 minutes

Page 8 of 24
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4y, Fan man wrd-ené uew uftaw 3 wie) s afia Eows awtar ) 31w G e ¥ 6 aftaw £ e mfies
HETE 32,500 &, A WISH 3R AAHESH W Hgw Kwr&,w} A md e i nfawn & 0
/

(A) 712,200 (B) % 18,500 °5 (c) 11,700 (D) % 11,000

<
. . o 9 . . e
The pie chart provided shows the percentage breakdown of a family’s domestic expenditure. If it 1s given
that the family’s total monthly income is T 32,560, then what is the total monthly amount spent on food
and entertainment combined ?

Domestic E\‘f_ié)ladfmre of a Family
»

Provident thﬁd

House Rent
18%

(A) T 12,200 (B) * 18,500 © () 11,700 (D) 11,000

49. UE Fte #, 30% FEA afeend & | 60% Afeen s it 400 e wiEd el @ | st i
HAfanfea Ffenfe & wfaema @ e 2
In an office, 30% of the stafl is female. 60% of the female stafl and 40% of the male staff are married. The
percentage of the unmarried staff'in the office is
(A) 46% (B) 52% (C) 48% (D) 54%

- ppepsppnpeppespepSP AP TR S ittt
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' 3¢ K= 1% DEEP  Seor I9azsy
5 WJa o w= =
19 F S =17
50. 11 "een aret vk R d @ wee 29 ot i oz wm & ww ad g2 2 ) aft wae i
farrz-frr -f Nﬁgﬁrﬁwﬁmm,ﬂm%m#ﬁmf@?ﬁaﬁmm@mﬁsﬂmmé%aﬁm
21 2 A st s
(A) 23 (B) 21a (C) 227 (D) 247
The captain of a cricket team of 11 members is 29 vears old, and the wicket-keeper is four years older than
the captain. If the ages of the captain and the wicktt-Xeeper are excluded, the average age of the remaining
players of the team is two vears less than the averiBe age of the whole team. What is the average age of
the team ? ol
(A) 23 years (B) 21 years (]C] 22 years (D) 24 years
51, SAHWME T AR | ®
Find the di.v.sn(n lar term. ]
3X5. 4U3, 2R4, 302, 1M3, =
(A) 302 (B) 2R4 ‘JC) 4U3 (D) IM3
52, STHEM HEq A7 A | ®)
Find the dissimilar number,
1, 3,12, 60, 340,
(A) 340 (B) 3 € 12 (D) 60
53, Fmafafaa d d Fmmedmat iz v
Which among the following is not a leap year? ) «ﬁ?—'&m Yiey
(A) 2004 (B) 2024 o? C)..2020 (D) 2014 Gl
5. Favafay faam £ 3w aven s mmmﬁsm fermm & e 2 2
(A Imeafim (B) T-qd o (O .o (D) =farmafis
A person walking towards North-West direction sees his left hand in which direction ?
(A) North-West (B) North-Fast =€) South-East (D) South-West
55. H®en9, 72,243,576, it difm) l
Complete the series 9, 72, 243, 576, '«’.;I
(A) 1125 (B) 998 @';C} 1250 (D) 876
56. afd DEEP %130, SEA #1 25 % =78 Ffea femn s 2, 3t RIVER #1 o w9 if sifes Py st o
If DEEY is coded as 30, SEA s 25, then RIVER will be coded as
(A) I5 (By 72 (C) 20 (D) 356
A~
57, afe 4 wrad xR, 4 345 R
N (S stands for *x", what is 3#5 ? )
(A) -2 (B) 2 edC) 15 (D) 8
8. AR a-b=a’thatb=b2+ad A3 ~mﬂ23_na°_"frﬁmr
If adb=a’+b,a"b= b?+a, find (3~6)"2. ~
(A) 23 (B) 18 Tc) 21 (D) 19
5973 3 10 Feaft 2fim oAy i =i €, fre 90 Pt atd i 3 & 3t 6 Pt o 731 3, it s s Bfe
w3 s sife et i o ’
(A) 1.6 Tt wmfirs iz & ,.}ém 9.6 et wifer fog &
() 10 frt wrifirs fiz D) 6 Fait mifis iz a
What is your final position in relation to your starting point if you have walked 10 km South, then turmned
90 degrees to the left and walked another 6 km ?
(A) 116 km from starting point (B) 9.6 km from starting point
(€) 10 ¥m from starting point (D) 6 km from starting point
BXv-24  TTTTTTTmmmmmemeee —— 'a];l-ziéfii """"""""""""" !go """"""""
sc::'d';“ “You " &"_é
| T{'}fﬁ'n — : ) @ ‘:5_’_.-
Gy
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NE
500
1 290 X5y
¢S 6& \
60. T T &, 60% wiii 3 R A ik 407 o A e B 1 weiw B ) aft g 500 sawarr 4, 4@ frad

61.

62.

63.

65,

66.

A 3 famreg A 1 sz B o

In a survey, 60% of people preferred Option A and 40% preferred Option B. If there were a total of 500
respondents, how many of them preferred Option A ?

(A) 200 (B) 400 () I{II)L-&: (D) 300
&t 1w He e § surelt w@Ren wa A olf
Find the next number in the given number scries. /I
\
126, 112, 98, 84, 70,
@)
(A) 63 (B) 56 (C) 53 ~ (D) 64

fo e Y e ) af aiv Fiofar sfifore s - Sickaduaidd
FI - U GE SANE & w@reed & o s=ar |

e - @

1. Ha ol Fr =y ofit fhe w1 us srssrata 2 |

2. SERATHATAE |

(A) Fad fred 2 yr=r 3 (B) Farfremi | s ad 2R
(C) =Fad i | g2 (D) =M1 v 5=

Read the Statement and Conclusions given and decide which (gf‘ he statement(s) is/are valid.

Statement : An apple is good for an individual’s health. o2
Conclusions :

af O
1. Apples are a good way to keep someone healthy and fit. <] ?
2. Grapes are better than apples. G) Z_:’_; <
(A) Only Conclusion 2 is valid (B) Nci{l?c}r Conclusion 1 nor 2 is valid Y ¢
(C) Only Conclusion 1 is valid (D) Botl’(ﬁvc Conclusions are valid g‘-:::‘g <
= a _—
forw e Trgva § g HE T i) ®) "
Find the missing number in the given analogy. X
25:625::35: f:'"_;_“
1(ﬁ){sos (B) 1225 (C) 825 (D) 1115 = ff?
mﬁmqﬁﬁaﬁrifsaﬂ%gﬁm%aﬂuzs %ﬁramﬁﬁqym?ﬁwmmﬁmﬁmﬁggm /35—
¥ O X
= T3 ~

(A) afiorgd (B) I © % D)_ufim T3

What direction are you facing at the moment, if you start by l'%ng south-easand turn around 2235 degrees

anti-clockwise ? < /175
(A) South-east (B) North-ecasl (C) Easta) * (D) West S
T e s Sifsre st a4 fam 3w o avmen ) ] €28 (
Find out the altcm.ltivc which will replace the question mark. ./l

12:26::7:24 ‘; 2¢
(A) 12 (B) 9 © 8 @ (D) 6 2

o s =]
1 e 7 3T AR GiE A A | s 3
Find the next letter cluster in the given series. Xx& 2

DA, HE, NK, RO, XU, CETS
(A) BY © (B) AY (C) CY (D) Xy  ——

BXVa2s T Page 11of24
R o Xy
i
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67.

68.

(A) 15 B) § (©) 20 Loy 40
60, i i i fa v P 1 PUNISHMENT 5 Sekih o S v e
EIRETIN @
Determine which of the provided words cannot be formed using the letters of the given word
PUNISHMENT.
(A), PAIN (B) SENT (C) PENT (D) PUSH
70. WG G AT : 0
$fifaat - ?Lﬁ'i: I ol
(A) |t (B) (C) W odD) Yfrdt
Complete the analogy : <]
Engineer : Blueprint : : Chef':
(A) Ingredients (B) Kitchen (C) Menu %ID) Recipe
71, STTE HET FTET 2 4
‘7 What will be the next letter ?
E:H::N:? ©
(A P (B) R €y O (D) Q
72,  Frafefm & & #i-67 Sg1 H2 8 Hem 9
(A) faeeht - = (B) - fafiwmm
(C) 1 - i (D) I - el O
Which of the following pairs is different from the others ? g
(A) Cat — Meow (B) Cow — Bleat P
(€C) Dog - Bark (D) Lion — Roar "*]
: . L o2 &
73. a?ﬁrmrmmmﬁﬁaﬁﬁmﬁmlﬂﬁ?mﬂzﬁ%ﬁﬁu%ﬂg}h%ﬁmﬂwm
. ¥ -
(A) BHERR (B) @R (C) 3umy by s
“The company’s decision to downsize was prudent.” What does the worll)prudent™ imply about the
company’s decision to downsize ?
(A) Wise (B) Careless (C) Reckless (D) Hasty
BXV T T e (2ot 2a T

Frrfefin 3 @ 3. v g, wef) 3 % Al 3 tistvy Y AT ey dn A anfar & 2

Which of the following diagrams best illustrates the relationship between Pigeon, Bird and Dog

L@ =@ (3 =@

40 Frenfiidt 2 ek e 3, 20 3 et ey Fre < R 3 15 3 7fore T R, et P =t | wfﬂ'nfm-"
£ el Feeedf 3 a7 8t i, an S fyam, a0 2k 1 o @ | 39 Prenfdat AT ra #ifs e i
et e 2 1 o

In a class of 40 students, 20 have chosen only Biology and 15 have chosen M hematics, but not Biology.
Given that every student has chosen cither Mathematics, or Biology, or both, Tind the number of students
who chose both Mathematics and Biology.
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74.

(2) U is the mother of Q, o}
(A) Only (2) (B) (l)and 2)bdih  (C) Only (1)
75, o g Tt ¥ fvek ot S e qur < SAEN sra, T vt s T e A AR A, A
AATT 38 [T T20Td U qrdeh 316z aamfi 2
I. HRETIAGVSN r I
[I.  FLNESAGOMI p
. EXSONHTIAU <]
(A) FaAII B) Fau,m € () i,
After exchanging the 3" and 6™ letters and the 4™ and 9% letters, as well as the Sth and l(}[h letters in the
given words, which series would result in a meaningful word after this rearrangement ?
L. HRETIAGVSN
II. FLNESAGOMI
- III. EXSONHTIAU )
(A) OnlyII (B) OnlyILII S (€ ALILIN
76. | WIGeA T AT ot}
oTHie : AT ;; SISl : ? {l
(A) BT (B) Td @ ©
Complete the analogy :
» Thermometer : Temperature :: Odome[;.rlz ?
(A) Pressure (B) Speed fl (C) Weight
77, WA Q@A T FHI0 | @)
Find the dissimilar numbers.
(A) 9,12 (B) 5,20 (C) 15,60
78.  Tefefaa st # B 1 @@ g A
Determine the number of triangles in the following figure.
Q)
(3
o)
<]
o ®)
Q) 13 (B) 7 ] © 16
79. ﬁqwﬁﬂn—vﬁﬁﬁﬁmﬁ(&a‘mﬁmﬁﬁqq
(A) A (B) &S @ © T
Find the odd one from the given alternatives.”
(A) March (B) July (C) June L
BXv2a TR Page 130f24

PR Q, SHET= TP Tt

T WA I & forw e (1) ot (2) 3 A - savaE 24 7

(1) R, PFHELIRTF A=Y
(2) U, Q#ruig)
(A) (2) (B) (1) 3 (2) 3w

(C) hae (1)

P and Qfafe children of 8. Who is the father of P ?
To answer this question which of the statements (1) and (2) is/are necessary ?

(1) Riis the brother of P and the son of T. &/

(D) ATAT(1) 7 (2)

(D) Either (1) or(2)

(D) Fae Il

(D) Only III

(D) &

(D) Distance

(D) 10,15

(D) 9

(D) w3

(D) May
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80, sy | v P e 3 10 agaifin & ) 3 e argeet 6 g, SR 01, 1y 8 i B ) e s
e afe 3w I Sy w1 = AR By v A e o s A
Figure 1 is related to 11 in a certain pattern. Following the same pattern, figure 11T s related to IV. Study the

pattern and select the answer figure which should be placed in place of TV,

' w,
j\l ) a ¢ se K -nﬁ'?
D ° D oe Q of'{j'
S q D <
I I 11 @;W
ESIECIE TR []
Answer figures : /I
a a @ |d K
(A) ® (B) K (C) O (D) o
R b | 0 K d

81. = fw o faEt & s ifvg

Study the figures given below :

(?

®
ﬁéﬁqmﬁﬁﬁﬁwﬁagﬁqﬁmﬁmmﬁzﬁﬁwﬁm&%haﬁméﬁl

From the figures given below, choose the figure thagt} will be most suitable to continue the pattern given

abovc. @)
I I 1 N v
ol
(A) V B) 1 @ m (D) 1

ol 52q;ﬁaﬁr@ngﬁﬁmﬁmﬁﬁmﬁmw%?[$]

What is the probability of drawing an ace from a puqk_ﬂnfi?. cards ?

A) = "(ij) 1

25 @A) 52

3

C —— ks

© 13 () 13
BXV-2a T T T
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84,

86.

87.

A e i sl amgfy I Ak
Find the next figure in the given series,
& sje -

Given series ¢

> O ®)

> @)
(A) (B) Lo (D)
A <
Aae 4 fam @sirg) 1 g fift ®
Find the odd one out in the series.
Al, C9, E25, G49, 189
(A) C9 (B) E25 ~ (C] 189 (D) G49
el | 3edt we wa i | °5
Find the next number in the series. (\J
145, 155, 175, 205, 245, 7 )
(A) 285 (B) 300 []©) 295 (D) 290

TS AT R/, T 3 &@%ﬁmﬁmmﬁa@%wmwmmm

Out of the given figures, find the 3 figures that mll fnnn a squarc, when fitted together. A {,7‘—7?
T
D / 4 \ C
. L T e
&
| 1 Il (IJV @
(A) LILIV mj{m I, 11, 1V Q\
St 2 T
(€) LIV ](D) I, 1, 111 N
A, CTIHAI®: C T QABAE; Z, Qﬁn’f’*aﬂw(ﬁ:%i‘m | i i & A e o
(A). P,AFTHHTS| ! By Caltpaeid) nm) P G
(C) P 3T A F=0 s (i) &1 ]m) Q, AFAMATE | -;f,_

: . . (- | — : i o een Gy s
A 1s the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z. Which of the following
statements is true ?

(A) P isthe maternal uncle of A. (B) Cand P are sisters.
(C) Pand A are cousins, (D) Qs the maternal grandlather of A.
K3 e e | T i e L
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88.

90,

ws sfe A A, Al s Y ey iR 3z 28, ar s A afy 6 A1 firet smorft | 7w 73 3, afh
- . " - ' ' e l
I 3 A T Star Ik A Al e e Ao R0 '

(A) 45T 4f—;un 63 7
o
(C) 36 off (D) 54

A lady said, "It you reverse my ape digits, you'll bgm my husband’s age. He is older, and the difference
between (heir ages s one-cleventh of their snm.“[w}hul is the man's age ?

(A) 45 years [ I{H) (3 years
(€C) 36 years i |{D) 54 years
PRASHT  S0Tef) s sy o | G)

Find the next number i e series
16, 10, 20, 14, 24,

(A) 18 (B) 12 (C) 28 (D) 16
3 T F U AT W AL ()

(A) E (HEm B) fe 05(@ 1 (D) 3=
Find the word that does not belong to the set. ??]

(A) Lead (B) Tin (;)(C) Copper (D) Steel

mﬁmﬁﬁmﬁmﬁmmﬁﬂmmw%ﬁmw@gm[ﬁ:)muﬁ?&zﬁmm%l
WN@W—WW-WWWW??{]

(A) wEe (hrEe) @) (B) wffer (=g

(C) Afduaed (ErEwEEm (D) g (uferam)

A cylinder is intersected by a plane inclined at an angle of 60 degrees to its axis. What is the shape of the
resulting cross-section ?

(A) Parabola (B) Spiral
(C) Hyperbola ( 1(D) Ellipse

e o % AN g [508) A =
t{mm&afm.t{rayﬁ?mﬁ@wﬁﬁﬁ%%%: T, i o, 2fars o vgad | vem, e S ww A A 2 A
UeH W e HE AT A7 2 | veH tR SR W AT | Sfas, s F o A i ¥ g A Amr 20
(A) (B) e @© S (D) frw
In a conference, five participants are seated in a rqw: Alan, Bob, Chris, David and Edward. Alan is not

next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ? <<

(A) Bob (B) Alan @)(C) David (D) Chris
93. A BEAR' T 25-22-26-9" % &9 § Fifae i sty &, at "TIGER" %t ¥ Ffga far stmomm 2
If*BEAR” is coded as *25-22-26-9", how will *TIGER" be coded "\
(AY 7-9-11-4-17 (B) 8-9-12-3-17
(C) 9-10-13-6-17 D) 7-18-20-22-9
BXV-24 '""""""“"'"""""'"""Iﬂs};;_fﬁ'ﬁf‘ii _____________________________________
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. o v d i wewr wewEit & o et e R

a. A3 28 A Fall |

b, T 3 AT T 3 |

c.~ wﬁmr)tanomﬁ%zmxmﬁmﬁWMI

d.  FEEH 509 W =19an 25 34 |

Hfegz & qw PG R, t wvren aft dwwr ' 7Y ST ST IR |

. a3y e s, o e e e

2. ﬁmmmﬁmmmm@aﬁwm%ﬂmfm%mﬁﬁmm

2
j
frefafaa et & mmmm%mﬂmﬁ%m:ﬁmaﬁw

af;q?ﬁm 68% 3 3 T4 MCA | 7] 30 & | Tt % &0 7 2.5 a1 7 3 | 370 5 40 3 W
|

(A) mﬁﬂﬁaﬁmﬁmm%mﬁﬁwmﬁ(

o

(B) 2T ATAHE o
(C) AT &% o v il A 9T o
(D) IefiEan &1 =5 e R s e <
~ Consider the conditions for selecting faculty membcrﬂ a computer education centre :
a.  Age between 23 to 28 years. (I
b.  Work experience or programming experience. ©)
c¢.  Postgraduate degree in computer application with at least 60% marks.
d.  Minimum of 25 marks in the interview out of 50.
e. . If the candidate does not have PG, the case is to be referred to the senior faculty member.

f.  Ifthe candidate does not have work experience, Q15 case is to be referred to Principal of the institute.

g.  If the candidate satisfies all other qualifications Q&*ccpl the age limit, the case is to be referred to the
Director of the Centre. ol

-

o
Which course of action should be taken for Babli Sarkar \msud on the following intormation ?

Babli Sarkar : MCA with 68% marks. Age 30 ycurs.@}i years of experience as a programmer. Obtained
40 marks in the interview.

< )
(A) Candidate is to be selected as a junior faculty 111tilﬁ;}Lt!t‘

L
(B) Data is inadequate

(C) Case is to be referred to the Director of the Centre

(D) Candidate is not to be selected

JBXV-24 Page 17 of 24
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26.

p’ 97.

98.

99,

104,

105.

106.

g 3 A

(A) degE (13) e
S AR AT R 3 3 A

(A) AT e e
() wfl wifil &0k s I3MI

37T o 3 aferl A anr i ad

(A) Tl awq 2
(C) W e
“IeAH" T ey e w0

(A "dq (B) 3

e, e, deam dad e d o

(A)  HerTs fan (B) 7T o
. 9. 100% 104 T O

F51 =T HTH ST R, W Hed qeet % 36 B Srerndt & forn g 3w 9o A 2 | 3 o T w5 i
S &1 5§t 30 3 Fr avEr i, s e g e i e e 8 B e e A i B e e
Wmnmm‘ﬂmmﬁaaﬁmmmmwm%aﬂr%a%agr&mﬁinnwrﬂmﬁa.n
TG &, W 4 FeAT F TR I 3 S S T A (S e 3 3R 7 AT S awms
ﬁﬁmﬁﬁv%ﬂa?amsﬁmmm%m%
mﬁmﬂhmﬁﬁmmqﬁmaﬁmmm T8 |
100. ST 1 1 3 BT R 0

(A) FATH B) s @

TR T I S I Y

@,ﬁm (B) 3=
. SiFRIFHR

(A) STEHET (B) =1

et i ety s

(A) TTETHIE R

() facet ssE s

TIEITT 3 TP A A 3 R 0
(A) =3 (B) Wex
T FE TR TR R 0

(A) @8 Feq 4 foraar 2 |

(C) T Hel A |

‘I A I F e R

(A) | 3R Heamn

(C) TF 37T quT

. F=fefaa 0 s 2

(A) wIm (B) afigor

(C) fan mij?ga‘}fa

“” ?F:Tg 4“‘;1 :r FT'-;T FIAT
(D) TP 7T 24T

@
ﬁm A A
) Arer & 7
<
%C] TEI (D) frEre

<}C] T T (D) F=a= e
®

L)

GEE mmﬁmwhmmré1wwm 3 FHa

@C) ad (D) A==
L]

<fC) =t (D) 3T Eamy
@(C) T (D) &

(B) IR

(D) wfafimd

O

(G D) ¥

o i ;

<p} Ta3 B ot v 2 |

Clp) az i qerw

[]

< B) W 37 ltear

@Il;)l fariYet avem a 3ik @emn
(C) Wi (D) 3E

e e e = — = ———
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108.
-

109.

110.

111,

112.

113.

114.

115.

G () F TS ;

(A) Wi frdt e (B) et

() AT U 0) (1D)_SPuisht wHia

RiGicrak A R Rt ) o

(A)_ ST=Ffm 1) g o3 () fa (D) v
frafafaa i & ) fe sl (J

(A) ‘ﬂﬁmﬂ (B), e @ () ey fam (D) Frdors form
IR o IR T 3R % 9w W Fre e ¥ et 1 A -1 0 T 2

(A) TEva (B). fersft () e (D) AfE
'W%m‘%ﬁmﬂﬁmwﬁwfmt@maﬁﬁmw*ﬁ

(A) FmyEm e (B) s (C), T M (D) =z e
fa=ferfan seal § & v a1 a1 sl 2 -

(A) ST (B) MW (C), - 3 (D) 3=
Frferfiaa 5 & aver 3 v =7 = i ®

(A) TUoe amar # o5 92 @ | ol (B)ATS HIHA 2l el =2 o7 |

(C) freet dmar F eFa | o8 (D) fuwet HMETR 1 et 7% EAT 2 |
Frfefaa ami § & FH.aram @R

(A) WTST A W 30T Ta et & A w5 w (©)
(B) 79T 3 HieR T o e s s 2 [
(C) T 1 3314 T1 T ST8edT 91 3 | <]
(D) Wﬁmmmﬁaﬁcmﬁ@%mat@v%l

116. ‘F& &7 Frd & - saare & & fra e #1 fom e 2

(A) F (B) 3EH (C) = (D) i
117, 3 =2l S ST E | AT S 91 - R

(A) = (B) @ () # (D)_#t

. . O

118. fou e arrra & foro v ored BT ol

ST T A ST HE Y]

(A) FFETHA (B) ArAfE < (© st (D) 3T
119, Fren-Fadmm & wehm 3 e Sarem & frafafag@i o i gmad @2

(A) FwEarT fFar-fagm - s (] By wforraras frn- e

()  Fremanas forn-fagmr - awrs ,<] (D) feafasis frn-fagme - #@ 3 wd
120. S F R wa R ®)

(A) ¥ (B), FE © () WM (D) fam
121. vita = ferem g

(A) Tfia (B) 371 (C) 3 (D) o
122, ‘EVE ' TR AR R e &0

(A) T el (B) HTHT SHIeT (C) o syt (D) e W
BXV23 T T T T T e 10024
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123, Fy=fafaa § @ v g e .

(A Wew (B) Wei () (C) e (D) <oar
124, 33 w5 vt fe it @ oo ol
(A) 3R (B)_aih “’;‘ () fmafa (D) 2fefr
125, HEm % e & wlar I
. (A) R e @ v O () fer (D) S efrer Amme
N 126. Wwwﬁﬁmaﬁmﬁmﬁsﬁsﬁm{
(A ufr - fmr (B) fartor - afym L) el — Fel (D) wAfEmr - 3=21
127. SR T 7 Tt g 2 “--’)
(A) T (B) T (C)Ljr:r (D) IeETE
128. WM v1ea F1 T = g o
(A) F# (B) e (€) meeft (D) 7=
129. 2013 % *frersier v (3w=mmay' & fer wnfeer sragrardt qrem o fom a0
(A) Tz e (B) mwemrfay o) () zeia saaw (D) FEarT
130. ﬁnﬁﬁaqammaﬁmmm@
(A) @ (B) % I (C) = (D) &
131, Frforfi & & #-ar e qm & 2 @)
(A) 3 (B) i@ L o © sm (D) =

132, T FEr A o A 30 T & o b 3§ s T @ 75 e s e 3 1 AR
30 = # 37fr 3 F 135 7o yftw 3, i1 AT 5 AT 1 et Fee Fra 2 0

In a factory, 60% of the workers are above 30 years and of these 75% are males and the rest are females. If
there are 135 male workers above 30 years, the total number of workers in the factory is

(A) 200 (B) 150 (©) 300 (D) 180
133. qmﬁaa?rﬁnaﬁm%ﬁaﬁrﬁqmwﬁsﬁtsﬁmﬁaa&maﬁaﬁmm%ﬁtﬁaﬁnﬁaﬁwﬁ
TS Fma R 2 9

A 20% reduction in the price of an apple cgé les a man to buy 10 apples more for T 54, Then what is the
reduced price of apples per dozen ?

(A) T12.96 (B) ¥ 14.48 \] €) T1432 (D) %10.80
134. t{EﬁﬁTaTHﬁ waﬁtwmaﬁz-ﬁ%angmﬁ?f@lmm%aﬂtgﬁﬁamﬁa%ﬁ: | % ¥qura % feremar smar
& | 21 firermat i annft v A 3 ﬁ‘fﬁwmmfﬁqmﬁmﬁmw&qymwl:nﬁ
ST 5 7 2 \

In a glass, milk and water are mixed in the(rtio of 3 : 5 and in another glass they are mixed in the ratio of
: 1. In what ratio should the contents of the two L,lusses be mixed together so that the new mixture
cnnmins milk and water in the ratioof 1 : 1 ?

(A) 8:3 (B) 25:9 (C) 20:7 (D) 27:4
135. 72 ToR1 1 764 el 60 Tedahi o forma g o stoae @ | dr e wfiera am d o
| The cost price of 72 books is equal to the selling price of 60 books. What is the gain percent ?
? »
(A) 16 ; % (B) 8-% (C) 20% (D) 18%

TR S - e = e

Page 20 of 24

Scanned with CamScanner



136. f 3 Y T 50 7 60 A 7 & wrliar smar @ 3T 60 7 50 7 7 8 A=A R, A e ufowr o
If bananas are bought at the rate of 60 for T 50 and sold at the rate of 50 for ¥ 60, what is the profit
percent ?

(A) 42% (B) 48% (C) 66% (D) 44%

137. 12, 18, 20, 25 =1 @ THMaE (LCM) 31 |
Find the LCM of 12, 18, 20, 25.

(A) 880 (B) 920 (C) 860 (D) 900

138, “fﬁ?ﬁ}}@'ﬁmm%mw4 6, &%naﬂr 12 @ o P s 2, v it feaferdt i 3 9
TR | o8

Find the least number which when divided by 4, 6_,”-}. 10 and 12 leaves the remainder 3 in all cases.
(A) 132 (B) 117 @ (€) 123 (D) 120

139. A U fifera e 1 120 A i Fwwan 1B, A[R]607% i e & | df 36w E F F form B R
Fery et 2 4

(A) 80fe (B) 70fe= @ (© 75 fam (D) 10

A can do a certain job in 120 days. B is 60% more efficient than A, To do the same job B alone would take

how many days ?

(A) 80 days (B) 70 days (C) 75 days (D) 10 days

140, @F =t 600 foret =1 g g g 80 ferrdlse =t =nver &, 800 fFet gars sterst ZRT 400 fpfiie i T 7 HT
100 foreft HrevensfReT gn S0 farft/ee i =rer & w2 3 @ | gl g 3 for sitea e = 2
. . od . 5 .
(A) 130%—2 fedimer  (B) 62 fdiEe g (C) 65 13_3 i (D) 60 ]::- B ifors
A person travels 600 km by truck at 80 mﬁghﬂﬂ km by aeroplane at 400 kmvhr and 100 km by
motorcycle at 50 km/h. What is the average spee@for the entire distance ?

(A) 130% km/hr (B) 62 km/hr D (C) 65% km/hr (DY 60 I% knvhr

<l
141, U "l 7 25,220 IUW Al & S 8 T, a7 37 A ok ave fie w9 e e ad @ | Ak et
ST 7T 5% B, T Wedeh e 1 el T FIf |

A woman borrowed ¥ 25,220 and she returned the money in three equal instalments after one, two and
three years. If the rate of compound interest is 5%, then find the value of cach instalment.

(A) T 8000 (B) 9261 (C) T8201 (D) T9.000

142 A Freft w67 2 ARy 3 B oY e i 50%% ifere Eva o R | afd 2w W R g w27 RS
Al B 37T 1 38 FRaa Jee S o

(A) 35T (B) 4sfe ol (C) 30fe (D) 40 &=

A takes 50% more time to complete a work tlmﬁfii. If together they take 27 days to complete the work,
how much time shall B take to do it alone ? @)

(A) 35 days (B) 45 days | | (C) 30 days (D) 40 days

143, TFRGRE =TT T E 3,000 1 TfeT 31 91 3 % 6,000 B & 1 A1 = ad ¥ ferg zrer e &2
A sum of T 3,000 amounts to T 6,000 in two yearsiaj compound interest. The interest for four years is

(A) 12,000 (B) %3.000 (C) %9,000 (D) ¥6.000

e ——————— T P R AL LS St S e
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146, A, B 3 C 3 0 Aarlt § warwr e sit e Py orara 5 ;4 0 3 4T | 4 HEH AT B 7 7 1,000 4T
Frerar fopo, 3t § Wit 3 A, ¢ 37 2,000 sifafoen fidgar R | af ook ot o o 5, S0 ST 1S ;140 1A
|1 Y31 3 C 1 e s hif | P
A, B and C entered into a partnership, and their iﬁ'ilcslmcnt ratio was 5 : 4 : 3. After 4 months, B invested
7 1,000 more and after 8 months, C invested 2{:660 more. At the end of one year, if the profit ratio was
15: 142 11, then find the investment of C at the beginning.
(A) T6,000 (B) %7,500 (C) 3,000 (D) T4,500
147. U WIEERT H, X s & IE e é g % fore faw T g, v lgqgﬁ % EERE RS AT ER i E A AT
. " () . A
e 3 fere e st Fraw arear @ 1 afe o & ofq A fia amaE 23,000 2, 7 v 1 e = ETT
. . I . s .
In a partnership, X invests P of the capital for "éljh of the time, Y invests érd of the capital for Lrd time
) - 3
and Z invests the remaining capital for the whbll time. If at the end of the vear the profit eamed is
% 23,000, then what will be Y’s share ? "*f%)
(A) T 5,000 (B) 4,000 U(C) 35,500 (D) T6,000
148. Af a b, c,d, e ﬁmﬁwmﬁﬁw%w% 2
If a. b, c, d, e are five consecutive odd numbers, {h'ln their average is
abede
(A) e (B) at+4 (C) 6(a+d) D) Ya+b+c+d+e)
149. i st 8 F, qudt veet A1 g i ded A ot @ 1 af dE e w st 44 2, @ v ad e
R ? ~
Of the three numbers, the second is twice the ﬁrs‘lt_‘;ind thrice the third. If the average of the three numbers
is 44, the largest number is :‘3
(A) 72 (B) 108 _(C) 24 (D) 36
150. g4 ff T 3 2025 wlet frsror o, g7 Sl T SEE 12013 R 1A 122 15 3% 35una i 90 3R T I 0
41 hreror wH = % %Qf‘?m-ﬁumﬁm#’rfﬁmsf'ﬁfﬁ FTETEFAT R 2
(A) 1627 (B) 150¢fex _(C) 160 T (D) 156 &t
In a 2025 litre mixture of milk and water, the r;ii‘x‘o of milk to water is 12 : 13. To get a new mixture
containing milk and water in the ratio of 12 : 15, {h¢ amount of water to be added is
(A) 162 litres (B) 150 litres (C) 160 litres (D) 156 litres
BXV24 T T T T T T hage 22 0f 24T e

T % 3ifehd qer w 12% ) 7z 23 3 A1, U FHEAR 21% 71 @ 3k | afE = o gz A A g,
A aw fraar sy a1 o o

Afler giving a discount of 12% on the marked price of a book, a shopkeeper earns a profit of 21%. If he
doesn’t give this discount, then how much profit would he earn ?
(A)  25% (B) 31.5% (C) 40% (D) 37.5%

T AT T R SR e a0 Y gz e 1 af e o g e 7 3,600 2, AT ST 77 A
IS AT ZTam 107, T2 83 % 31 20 w1 ang Ffa w5 0 |

A shopkeeper allows a discount of 10% on the marked price of a camera. If the cost price of the camera is
T3,600, find the marked price so that shopkeeperdn earn a profit of 20%, after allowing. 10% discount.

(A) 3,650 (B) #5,700 <](€) T4.800 (D) 4,750
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